
Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” (aFe P/N: 90-50001 blue oil aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil or aFe P/N: 90-50000 gold oil aerosol, or aFe P/N: 90-50500 gold squeeze oil).
Filter Replacement: Magnum FLOW PN: 24-91031 (black w/blue media). or Pro-GUARD 7™ PN: 72-90021.or 72-35008 Pro-GUARD 7™ media, (black w/gold media). Pre-filters: 28-10011 yellow, 28-10012 red, 28-10013 black, and 28-10014 blue 06-80090

Intake Kit Installation Instructions: '04-'05 Dodge Durango V8-4.7L/ 5.7L Hemi

Complete kit components

Step 1

Remove 2 screws on side fender well area and remove lower portion
of airbox.

Step 6

Install filter onto end of intake tube and fasten securely. Also place
coupler onto end of resonator and fasten securely.

Step 11

Complete stock intake.

Step 2

Remove 13mm screw from radiator core support. This will be reused
once heat shield is installed.

Step 7

Install intake tube assembly into vehicle.

Step 12

Remove crank case breather line from airbox and oil fill chamber.

Step 3

Loosen screw but do not remove completely. Slide bracket that was
supplied in the kit into place and retighten screw. This new bracket is
placed in between the accumulator bracket and side fender well.

Step 8

Once tube is set into place fasten securely using supplied M6 x 1 x
16 screw and cushioned washer. Attach new vent line to tube and to
oil fill chamber(On 4.7L engine you must trim hose to 13” for proper
fit).

Step 13

Place enclosed CARB EO sticker on a clean/smooth surface on or
near the intake system. EO identification label is required in
passing the Smog Check inspection. Your installation is now com-
plete. Tighten all connections and clamps. Re-check after a few hours.

Filter Service Note:

Tube and filter assembly must
be removed as a complete
unit, due to space constraints.

Step 14

Loosen clamp where intake tube meets resonator box.

Step 4

Place intake housing into vehicle and fasten down securely reusing
core support screw from step 7 and use M6 x 1 x 12 for the bottom
screw.

Step 9

Undo clips that hold stock intake box lid on and remove this com-
plete assembly along with stock intake tube.

Step 5

Install trim seal onto intake housing.

Step 10

Kit Part # 54-10622 

Make: Dodge

Model Year Engine
Durango '04-'05 V8-4.7L
Durango '04-'05 V8-5.7L Hemi

Tools Required:
5/16” nut driver or slotted screwdriver
10mm socket or wrench
13mm socket or wrench
14mm socket or wrench
Ratchet

Part List:
1 Air filter (replacement # 24-91031)
1 Intake tube
1 Intake housing 
1 Intake housing bracket
1 Coupler
2 Clamps #064
1 M6 x 1 x 16 screw
1 M6 x 1 x 12 screw

1 3/8 - 16 x 1" screw
1 3/8"-16 self-locking nut
2 3/8" flat washer
1 Trim seal ( 11.5in and 18in length)
1 1/4" ID x 3/4" OD cushioned  washer
1 3/4" ID x 23" in vent hose
1 Washer, flat M6P.O. Box 1719

Corona, CA 92878 
Support: 951-493-7100

www.aFefilters.com


